FER2AFE TR —RYTGYXKE ( #LEDER )
2013.02. 16
N AME ouT IN ' GROSS HDCP NET R AN K
25 — 45 46 91 | 24.0 67.0 (& B
TG B 39 38 77 8.0 69.0  EfEHE
FRZE  FERER 42 42 84  15.0 69.0 341
TR #E 44 39 83  13.0 70.0 Az
i 2= 46 42 88  18.0 70.0 5Yiva
FOEX 43 40 83  12.0 71.0 641
2 BN 40 4 81  10.0 71.0 141
B  ERKER A1 40 81 9.0 72.0 811
Wk &R 45 42 87 | 13.0 74.0 9L
BEH B 47 A 88  13.0 75.0 10z
XE FIEH 48 48 96 | 21.0 75.0 1141
=EF BX 40 42 82 6.0 76.0 124iz
bt #E—ER 49 45 94 | 18.0  76.0 134z
L Fah 42 39 81 4.0 77.0 1441
B BT 50 39 89 | 12.0 77.0 1541
ik HEA 43 42 85 8.0 77.0 1643z
£k 8 44 42 86 9.0 77.0 1741
fl EA 46 40 86 8.0 78.0 184
EE OMA 45 M 89  11.0| 78.0 194iz
R —% 43 45 88 | 10.0 78.0 2043z
T BRI 45 47 92 | 14.0 78.0 21431
TH FEF 43 48 91 | 13.0 78.0 22431
mA =TIE 47 50 97 | 19.0 78.0 23431
F IET 45 42 87 8.0 79.0 24431
Ht Rit 42 M 86 7.0 79.0 25431
EiE A A1 45 86 7.0 79.0 26431
A FiE 46 M 90 | 10.0  80.0 27451
Pk BE 45 46 91 | 10.0 81.0 28431
B B 41 44 85 3.0 82.0 29431




FER2AFE TR —RYTGYXKE ( #LEDER )

2013.02. 16

N AME ouT IN ' GROSS HDCP NET R AN K
2@ ok 49 45 94 | 12.0 82.0 30431
B e 52 | 46 98 | 16.0 82.0 3143
=8 N 53 47 | 100 | 18.0 82.0 3241
=i =7 44 51 95 | 12.0 83.0 33431
2 T 49 53 | 102  13.0 89.0 3441
X8 &I 53 56 | 109 | 19.0  90.0 3541
®%E FH 0 0.0 999 N R




